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QNo: 1 :‘I\f,ree:mr\:-o:fel,h;he person after whom the Nobel prize has been named is also known as the s A, ag R Rr TH R A9 mw%’ 3 ¥ o % w0 7 30 o o -
Automobiles SiferataTge
Electric bulb TP Te
Steam Engine A o
Q.No: 2 Where is the Headquarters of Asia Pacific Economic Forum (APEC) located? TR ARifE SIS BRA (APEC) P1 HEITd Fel fRud 82
A Paris L5
[« Jakarta wrpat
London e

No: 3 Which city was designated as the SCO Tourism and Cultural Capital for the first time during the SCO R 2022 # Smiford TaRftel Ry Tier & RM Teeht aR 50 Wer o1 Tailel we SR Gl o &
QNo: 3/ mit held in September 20227 w it fbar T U
A Yangon o
¢ Bali aret
Madurai R
Q.No: 4 Anti defection law introduced by which of the following amendments ? Tq-aad ORI e Fafiied 7§ @ rw g g o e mr

chexam: , Cand_Objections. o 20
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c 4% 54%
D 50" s0 4
Q.No: 5 The system of Dual Government in Bengal was introduced by? U TWHR BT YuTel! b gR1 = 31 7 A2

[ Lord Cornwallis T Frefarera

D Warren Hasting arA &

Q.No: 6 Who was the first Governor of Madhya Pradesh? T YA & B IeaquTd B A7

A Satyanarayan Sinha TR Ryt

B S.N. Mehta TH.TA. Agar

D K.C. Reddy .

Q.No: 7 Where was Atal Bihari Vajpayee born? e gt g 1 S P g uT?

Q.No: 8 Where was the concept of ambulance service was started? T AT BT SR el L& P A

A Asia oRmr

B Australia sifefear

D Africa ool

Q.No: 9 Article 352 of Indian constitution is related to . R T P ST 352 9 W R1
A Financial emergency & State emergency farita amuTaTe SR 16T STuTABT

© mmewwwo e

.No: 1 0 was the president of the first Buddhist council held at rajagriha ? 5 ?
0 Wh h ident of the first Buddhi il held jagriha ? & smifor v dig Wiy & sreme e A2
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| B ‘ Ajatshatru ‘ EEICRIFS

C Harshavardhan

Q.No: 11 Who'i the Festival of and Entrepr (FINE)-2023? e offth SR U8 TeRI=IRR (FINE)-2023 &7 Igured g faar?
A Jagdeep Dhankhar Y YTES
C Suresh Prabhu W 7Y
D Narendra Modi g W
Q.No: 12 The Bagh Caves are a group of nine rock-cut monuments, famous for Cave Painting, situated in mﬁw%mﬁwmwwﬁmwm% Twﬂwﬁﬁﬁl’ﬂ?ﬁﬂlm% St FREY
A Maharashtra HERTY
Himachal Pradesh e v

D Uttar Pradesh

Who was the 1% Prime Minister of India? HRT & T TR B A2

B Morarji Desai AR TS

¢ B.R. Ambedkar dtIm. T

D Lal Bahadur Shastri T TETGR AN

Q.No: 14 Dhrupad reached its zenith in the courtof ____ . Pec % AR F U 7AW Ugl
A Humayun

Y,
D Shah Jahan Rucecd

Q.No: 15 Out of the following options choose the person who is a famous journalist in India?

Frofifed e § 9 o5 wfed g3 o ¥Rd § 0 uRig THR 87

A Taslima Nasreen

quedar T

B Harmanpreet Kaur

TR B

D Kailash Vijayvargiya

cbexam:
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Q.No: 16 Swati Tirunal is associated with which dance form? e e e 7 et & weifea @2
A Manipuri uﬁrﬂ'ﬂ
B Yakshagana e
C Kathak BYD

Q.No: 17 In which layer of the atmosphere is the ozone layer found?

S TR argHEd @ b T # O ol 82

B Mesosphere

Ritiaed

C Exosphere e

Q.No: 18 The area which receives maximum heat is known as:

ST AT T PR AT & BT e & AT § S S

A Frigid Zones e wfedy
B Both Torrid Zone and Temperate Zone Iwl Bfedy R Mo wfedy G
C Temperate Zone e sfedy

Q.No: 19 Who has been honoured with the Pravasi Bharatiya Samman in April 2023?

S 2023 F areh wRela S & frd i fear w82

A Vikrant Ahuja

it gt

D Vinay Rastogi e it

Q.No: 20 How many countries are the members of International Monetary fund? RIS TE B F o qu wewm E 2
A 180 180

B 170 170

Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No substitution required.

Q.No: 21

Researchers have found that wolves (is far more flexible then) most people had realized.
A is much flexible to
B No substitution required

D is more flexible then
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In the following question, out of the four alternatives, select the word opposite in meaning to the word given.
Q.No: 22
Subjugate

A
.

In the following question, a sentence has been given in Active voice/passive voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in passive/active voice and mark
your answer.

Q.No: 23

The modern technology has made our life so much easier.

Our life is being made so much easier by the modern technology.

Our life had been made so much easier by the modern technology.

Select the synonym for the given word.
Q.No: 24

ENGULF
A enshrine

encroach

Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No substitution required.

Q.No: 25
The advice of your parents to count till 10 before you (seek a tantrum) should be doubled for anything you do on the web.

A No Improvement

Select the word which means the same as the group of words given.

Q.No: 26

Impossible to believe

cbexam: ;_Cand_Objections/. P 5/20
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Inconsistent
Indelible
Select the most appropriate word for the given group of words.

Q.No: 27
Extremely active, or too excited, imaginative or emotional.

B Tessellation

C Estoppel
In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four
combinations is correct.

. . Nevertheless, there she sat, waiting, and knowing that her lover was near.

Q.No: 28 P.N rthel the h it, itis d ki ing that her I
Q. How had she known that there was anyone to wait for?
R. Joel, certainly, had told her nothing; still less could she have learned anything from Gilbert.
S. In a few minutes she would hear his steps; then he would be upon the bridge, and she would rise and meet him there.

A RSQP
QRSP
PQSR
Select the most appropriate option to fill in the blank.

Q.No: 29
The boys were tired, but not too tired to examine the little hut

Q.No: 30 In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four
combinations is correct.
P. At his feet lay a Great Dane, his tongue lolling and his eyes alert.
Q. Tilted back in a chair against the gatepost was a man whom Nancy assumed was the gatekeeper.

cbexam: ,_Cand_Objections - 6/20
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R. They crept closer and looks of dismay came over their faces.
S. Cautiously the girls worked their way around the bushes until the roof of the gatehouse came into view.
SPRQ
QPRS
SRQP
QSRP

o 0 @ >

In the following questions, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active voice.
Q.No: 31
The papers are corrected by the teachers in the afternoon.
The teachers will correct the papers in the afternoon.
The papers are being corrected by the teachers in the afternoon.

The teachers correct the papers in the afternoon.

O 0o @ »

The teachers are correcting the papers in the afternoon.

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option that provides the correct final order.

P. But they did not all go the same way.
Q.No: 32 Q. Those who went towards the west moved on and on until they gradually spread over what we now call Europe.

R. It came to pass that something like two thousand years before Christ, about the time of Abraham's arrival in Canaan, vast multitudes of our Aryan fathers moved away from the old home in the highland
country with their wives and children and all their possessions.

S. While some thought it best to march westward, others resolved to search for new homes to the south-east.
RPQS
PQSR
PSQR
RPSQ

O 0 ® >

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four
combinations is correct.

Q.No: 33 P To his delight the motor started immediately.
Q. He had frequently handled motorboats and was confident he could manage this one.
R. After obtaining Aunt Martha's permission to use the launch, he hurried down to the dock.
S. As soon as they were out of sight, Roger leaped into action.

A SRQP

QPRS

chexam: EB_Cand_Object asp) 7120
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® QRSP
D SRPQ

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option that provides the correct final order.

P. But in west and central India they were in great strength.
Q.No: 34
Q. Ever since the days of Shivaji the power of the Marathas had been growing.
R. It is true that their attempt to conquer the whole of north India had ended in the terrible disaster of Panipat.
S. The Mohammedan armies of the north, aided by the Afghan king, had defeated and slaughtered 200,000 of them.
QPRS
PSQR
QRSP
PQRS

o0 W >

Select the most appropriate word for the given group of words.
Q.No: 35
A person exhibiting excessive worry about one’s health.
Megalomaniac
Expert

Intellectual

O 0 w B

Hypochondriac

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option that provides the correct final order.

P. The evils of a standing army, the dearth of manufactures and the neglect of agriculture, had all combined to bring about a demoralizing state of affairs among the working classes.
Q.No: 36

Q. The whole of Bavaria was overrun with people who had no trade, no home, no duties.

R. Worst of all, they considered that they had a right to demand a living of their more self-respecting and independent neighbours.

S. This state of demoralization was not very different from that of the soldiers.

A SPRQ
B SQRP
c PSQR
D PRQS
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 37

Why are the people not being helped to set up their business by the state government?

chexam: EB_Cand_Object asp) 8/20
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A Why the state government is not helping the people to set up their business?

- Why the state governments are not helping the people to set up their business?

In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one which best expresses the same sentence in Indirect/Direct Speech and select
your answer.
Q.No: 38

“May you live long and prosper”, said the old lady to her son.

_ The old lady blessed her son and prayed for his long life and prosperity.

D The old lady blessed her son with life and wished him prosperity.
Select the synonym of the given word.
Q.No: 3
Swift
B Turn
C Hasty
D Harsh
Select the most appropriate meaning of the given idiom.
Q.No: 40
Drop in the bucket.

B An alarming or an one.

c An over ion to very small or i

Frafafea & § frwe Swdm 5 frora & w9 & 7 fea s g2

Q.No: 41 Which one of the following is not used as an artificial sweeteners?

Alitame wfew
D Aspartame e
Q.No: 42 When the breakdown of occurs with the use of oxygen it is called aerobic respiration. i @1 fage siiafior & SUaNT gRT 81T 8, A 98 a0dig 49 Feard 81
A Protein b
Y . —
chexam: ,_Cand_Objections! P 9120
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[« Vitamins frefim
D Fats |
Q.No: 43 The first orbit or shell after the nucleus is an atom is the - TRHTY F A P S T BT a1 DI I ¢ -
A N-shell N-FET
C A-shell A-DET
D D-shell D-FE&T
Q.No: 44 The substance not responsible for the hardness of water is: Ut B BERaT F g e verd T #1
A Calcium hydrogen carbonate i FEEIoT Frae
B Magnesium carbonate ARy sEfe
Which of the following scientists performed the Gold Foil Experiment? Frofafed & & fw dafe 3 M wiea wam fear
D 3.3. Thomson S ot
The branchy part of a tree above the stem is called T & SR & T AT U Fearmal §
C Saplings Y
D Canopy EES
Q.No: 47 Bipolar neuron is found in . sy ARG rar ST @ -
A Heart A
B Cerebral cortex AR qege §
Q.No: 48 The genetic information of an organism is stored in et ST Bt SRS TSR Fafed Bt &
A Plasma membrane. ST e
chexam: ,_Cand_Objections! o 10/20
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Chloroplast. FARIERE
[ Nucleus. Eubcd

Q.No: 49 Which of the following falls in the inorganic substances category of the abiotic components of the SR A 4 e TR 4 3 R veat & e arel 9 5§ o i

ecosystem?

A Atmospheric pressure arg - g

oI YW Side H g Tt @1 wan far s 82

Q.No: 50 Which material is used in bullet proof vests?

¢ Bakelite Apase
D PMMA dremgay

Q.No: 51 Which of the following is an example of a force that can change the direction of motion of an object? iR ¥ & S T UF 901 $T IaTe=l & ot fHHt aeg FI 7 3 M &) daat wpar &2

Gravitational force

Tensional force

Q.No: 52 What is the reason that many multi-cellular organisms cannot divide cell-by-cell? T FRO R S T5-PINS g FIRGT-a-SHie H1 v 76 a2 dod &2

[« They have a random collection of cells FTE U PRI BT T AF wIE T
D They are incapable of reproducing 3 o B A armd §
Q.No: 53 Grave's disease causes due to hyper secretion of hormone. Jo T T % AP F1d H BRI e 81
A ACTH widiTa
B aldosterone TEIRERA
D insulin i
Q.No: 54 ‘ What is the which I the t nature of light?
chexam: , Cand_Objections. o 11120
6/23/23, 1:32 PM mppeb.che , Cand_Objections/Jail "
AT B IR TP BT RIMIT e et Tere 71 32
A Diffraction R
B Interference fer@or
Q.No: 55 What utilises 26% of the water on average in a home? T R T 3G 26% U BT 1 I Bl 82
A Shower [
B Hand Washing 1Y T
D Dishwasher Rt
Q.No: 56 The gas used for artificial ripening of green fruit is: WG B HRT EY Y tHH F R 5 $ 9 el 97
A Carbon dioxide BT BTF SHTaIES
c Ethane =
D Acetylene TR
Q.No: 57 Octane number is a measure of quality - SffgeT TG U HT TH HIY © -
B Of water it
[ Of aromatic oils it et Bt

Q.No: 58 Rolling friction is the sliding friction. et o, Fdf ador qarg
A Equals to F WR
B Double [T
C More than J warEr
N e
Q.No: 59 Which of the following is an aquatic ecosystem? Frofifed & § $1F &1 te seftg uiRfRifdet o &2
A Forest Euc
B Desert i

D Grassland e BT A

cbexam: _Cand_Objections/. ,, 12120


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

6/23/23, 1:32 PM

|QNo: 60|

GET IT ON

Google Play

mppeb.cbexams. _Cand_Objecti

Which river forms the largest estuary in the world?

)

1 9 g 3 e 2

D Chaliyar Eieicd
No: 61 If 12 carpenters working 6 hours a day can make 460 chairs in 240 days, then number of chairs made 3R 1 & 6 2 P19 &3 a1l 12 Fg$ 240 R & 460 FRIAT 71 Fobal €, A Tl 3 8 2 HH H a1 18 wg§
Q.No: by 18 carpenters in 360 days each working 8 hours a day. GRT 360 Rl & w11 ¢ SR 1 G F wem 7 81
A 1260 1260
B 920 920
D 1320 1320

A father's age is four times as much as the sum of the ages of his three children but 6 years hence his

Q:No: 62 age will be only double the sum of their ages. Then the age of the father is: Mﬂmmmwﬂm$mﬁmﬁalwswmﬁmmw Ifﬂ?ﬂ?ﬂmeﬁﬂ:
30 years 30 ad
B 40 years 40

D 45 years asf

Q.No: 63

A person walks with speed 2 km/hr and reaches his destination in 3 hrs. If he drove his car, he would
have reached his destination in 10 minutes. With what speed (in km/hr) did he drive his car?

e i 2 Rraliier/der # 1R d Feiar @ AR 3 tiden wF W 3 6 F uge ol 81 9 9 oo BR e
ST i TiaeT ®IF W 10 e # ugg o 98 g i (Rreidiey/den & oot R Tamn?

Q.No: 64

Find the values of a, b, and c to express the equation x = 5y as ax + by + ¢ = 0.

R x = 5y @Bl ax + by + ¢ = 0 & &Y F oha $A & AU a, b, 3R ¢ F AH F1d Bl

[« 0,51 0,51
1,50 1,50
A can do 2/3 of the work in 8 days, while B can do 4/5 of work in 12 days. They work together for 5 A, 8 R & 2/3 o @ WapaT @ el B, 12 Rl # 4/5 rd I T 81 IHH 5 R do wowy w far siv
Q.No: 65 days and left the job together. Remaining work is completed by C alone and C is equally efficient as A. U1y 1 BTS T 2 1 3fdl C gR1 @1 e 11 6201 ¢, A & F0H @ SRiGa 81 € 3 e Al 9w
Then in how many days C completed the remaining wok? P &Y g far?

cbexam:
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C 4 days afE
D 5 days 5

King decided to distribute 1260 coins among his three sons, A, B and C in the ratio of 2:3:4, respectively 1T 3 307 = Gl A, B 3R C & o 1260 Rigd! B HA: 2:3:4 & 37U & fyaRa ¢ w1 e fwar, A

Q.No: 66 but mistakenly, he distributed the coins in the ratio of 2:3:x, respectively and thus C got 200 coins less 7Tl § I Rigdl B HA: 2:3:x & rgura J Rk $x far 3R 36 We € F1 3 Rigdl I 200 Ridy w0 e

than he was supposed to receive. Find the value of x.

2, S S forer ot A1 X 1 A I B2

B 1 1
C 3 3
D a a
No: 67 After allowing two successive discounts of D% on its marked price, a shopkeeper sold a radio at TP SN & 3ifHd G W D% B < Hie Fe 2 F 916, TP gHMER A 79 972 T H 341
Q.No: Rs.972. If its marked price is Rs.1200, then what is the value of 'D'?

ofe TGFT 3fFH gT 1200 R, A D' H1HA R 8?7

o} 8 8
D 20 20
QNo: 68 Simplify: (T8 + (1457 + 2} + {(5x 2 +2) WAFING (T56+ (14 7+ 2+ [5x 22 + 2 x 2]

13

13

Q.No: 69

The perimeter of a rectangle is 40m. The length of the rectangle is 4m less than 5 times its breadth.
Find the length of the rectangle.

T A BT URATT 40 H. 31 ST 3 T IHH DS F 5 T 4 H G 31 I0d B A T ol

B 31m 317
c am a4,
D 32m 327
What approximate value will come in place of the question mark? SAATEF g (?) F T T AT FA SR A
.No: 70 X
Qe (4576 +3286+5639)=(712+415 +212)="7 (4576 +3286 +5639) + (712 +415 + 212) =?
A 22 22
34 34
C 18 18

cbexam:
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Q.No: 71 mn:aztecf::t number of five digits which when divided by 54, 63 and 70 leaves a remainder 1 ot st 1 a8 B A A T T FRT R 54, 63 AR 70 T R A R v Ruf F Qv 1 A9 w2
A 10071 10071
B 11382 11382
D 10082 10082

What should come in place of the question mark (?) in the following question? Fruffed oy & vy e (2) & RIA W &1 3 A

.No: 72
Q 8480f £ of 2 of £ =7 sasa 2 ol o 2 =9
16 5 1

A 222 222

216 216
[« 208 208

Q.No: 73

Amar bought some mangoes at the rate of Rs.26 per four mangoes and same number of mangoes at the
rate of Rs.51 per six mangoes. He sold all the mangoes at the rate of Rs.45 per five mangoes. What is
his profit percentage?

SR Y P M BT .26 U TR ST B R F WA IR ST B g+l € Tem @ %.51 Wi o e F R
Wl IE Wi o B T.45 W Ui S B @ F 4 IHPT AT Hfdrr @ g2

C 25% 25%
D 15% 15%
3 : 0% T g7 F, ACBO TF TN Age & 77 C T S @ T AR W fRua
Q.No: 74 In a circle with centre O. ACBO is a parallelogram where C is a point on the minor arc AB. What is - Ll R >
o the measure of LAOB? B1 2408 & AT A 7
A 110° 110°
B 100° e

D 150° 150°
Simplify: W P
Q.No: 75
552+ 6+372-261+8 552+ 6+372-261+8
A 216 216
B 207 207
cbexam: 5_Cand_Objections/. P
6/23/23, 1:32 PM ‘mppeb.cbe> Cand_Objections/s
D 212 212
e 15T A 15 Rl o % o @ 10 el endr 3 v e 8 T
QNo: 76 Bontgocs 1”“““1“‘“_‘”““’35 '“‘_’d_""“s“?“{mim“m'@ Jieas i i o Se2 % 12 O % SR T 1 B, O m S B TR e AE A
and 14 km downstream in | m\%allsﬂlc_sﬁﬁa” th ? (in kmph) i T &2 e )

14

An amount of Rs. 50000 is invested in a scheme of compound interest. If the rate of interest is 20% per

50000 ¥ P A P THaf S B Ao F I B S B1 A A B R 20% wiay B, @ 3 @@ wa

QNo: 77 annum, then what will be the total amount (in Rs.) obtained after 3 years? Pl IR (TG H) 7@ g
Rs.82800 82800 %.
Rs.52400 52400 %.
Rs.52360 52360 %.

Q.No: 78

‘What should come in place of the question mark (7) in the following question?
(11 +@)?*

L e GO
(11)2 —33 +(3)F

forafaf@a vea & wesdras g (7) & T 9T 47 377 Tifge?
aF+E?

5
(112 —33 +(3)2

10

10

B 20 20

Q.No: 79

The difference between the compound interest and simple interest on Rs.x at 12% per annum for 2
years is Rs.18. What is the value of x?

2 auf & T 129 Wiy 9 BT & § Rs.x TS AT IR YRV A & i BT SR Rs. 18 §1 BT e R 87

c Rs.1,340 Rs.1,340
D Rs.1,300 Rs.1,300

What value would come in place of the question mark (?) in the following equation? Frafifea weiteRn § wsarae o (2) F RIF W /AR
Q.No: 80

47.5 % of 75 % of 9720 — 45 % of 55 % of 5550 =7 9720 T 75 % T 47.5 % — 5550155 %145 % =7

cbexam:
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A 1879.375 1879.375
1890.135 1890.135
D 1690.375 1690.375

Q.No: 81 R &R auif & Searur # sife MearaR 78 2 2, 3/ Fea Rl

A FE @R
e T
D IF3EF TR

Q.No: 82 Fre & & Hem frdy 1 1 FaTeRW 82

A WTaTaS HT

B faTa® w0

D wferaTae T

F & 1 ufderdt F Fre F | P o 82

.No: 83

QN Bt ot v e

A I DR

D WY PR
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